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1.Find the value of  a)  cos (-870)    b) tan (-
𝟐𝟓𝝅

𝟑
) 

2.Express  -22°30’ in radian measure. 

3.Express 
𝟓

𝟔
 radian in degree measure. 

4. Evaluate :-   a)      tan (
𝟏𝟑𝝅

𝟏𝟐
)      b)  tan( 22

𝟏°

𝟐
 ) 

Prove that:- 

5. sin10°sin50°sin60°sin70° = 
√𝟑

𝟏𝟔
 

6. cos20°cos40°cos60°cos80° = 1/16 

7.  
𝒔𝒆𝒄𝟖𝑨−𝟏

𝒔𝒆𝒄𝟒𝑨−𝟏
=

𝒕𝒂𝒏𝟖𝑨

𝒕𝒂𝒏𝟐𝑨
 

8. tan 70° = tan20° + 2tan50° 

9. tan20°. tan40°.tan60°.tan80° = 3 

10. 
𝒄𝒐𝒔𝟐𝒙 𝒔𝒊𝒏𝒙+𝒄𝒐𝒔𝟔𝒙𝒔𝒊𝒏𝟑𝒙

𝒔𝒊𝒏𝟐𝒙𝒔𝒊𝒏𝒙+𝒔𝒊𝒏𝟔𝒙𝒔𝒊𝒏𝟑𝒙
 = cot5x 

11. 
𝟏+𝒔𝒊𝒏𝟐𝒙−𝒄𝒐𝒔𝟐𝒙

𝟏+𝒔𝒊𝒏𝟐𝒙+𝒄𝒐𝒔𝟐𝒙
 = tanx 

13.1f tanx = ¾ and < 𝑥 <
𝟑𝝅

𝟐
 , find the values of  sin

𝒙

𝟐
 , cos

𝒙

𝟐
 and tan

𝒙

𝟐
 

14.prove that cos2A + cos2(A + 
𝝅

𝟑
) + cos2(A-

𝝅

𝟑
)  = 3/2 

 


